2)

A 1 gram block oscillates back and forth along a straight line on a frictionless hori-
zontal surface. It’s displacement from the origin is given by,

x = S (mm) cos[100x(rad/s)t + n/4(rad)]
(a) What is the oscillation frequency ?
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(b) What is the maximum speed acquired by the block ? At what value of x does this
occur ? (7)
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(c) What is the maximum acceleration of the block ? At what value of x does this occur ?
Qe = Ay

()
— (0coo §* 5)00 ? Cas ((oc.«‘.%*"'/‘,)
O:M OXCasy Glhor  Gasihe W olyove *Qa(qru“s law 8 Q(\u.m\ S
Man  olH

=
0, = 1I0%n* Sxw™?

= S-b’n ' /gz_
Occuss Whan  Cos (loask AT

= =\
-3
= > = =Sxw M C - 5 uu>

(d) What force applied to the block, results in the given oscillation ?
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